Annual Examination

Class-IX

Subject: Social Science

Time: 3 Hours M.M.: 80
1. STETeT SRIH T & IO Siel 471 A7 ? 1
Why was Bastille most hated prison in France?
2. ATLATE A EAT 3T S[&ATT el ol AT AT ? 1
SREN
TISTEIT o FAATE &1 417 {9 |
AI4T

FHT T2 &l o7 ?
When was Indian Forest Service started?
OR
Write the name of Rajasthan Pastoralists.
OR
Who was captain Swing?

3. 39 GYUTAL AT T AT (IR ST S 0 SRTHIT &1 aXa AT H aiedT

2 | 1
Name the parallel of latitude which divides India into almost equal parts.

4. g i watiow vt FEt a2 ? 1
Where does the heaviest rainfall of the world occur?

5. T o &R o ATeTea: R a® T & s o Sar g ? 1
Which age group is generally considered in adolescent group?

6. fRat= &= &1 AT Fifw | 1
Define the term Constituency.

7. WTIA % &l gatiee e Tsai & 719 e | 1

Write name of two poorest states in India.



8.

10.

11.

12.

1789-1791 % ZILTA WhIH sl TSI AT o FTIT AT Tod 1o HITIT | 3
Evaluate the functions of National Assembly for France during the period
1789-1791.
T SATTGATE agT TS-HTel &l Al TSATqa1 F7 A0 ad17 § 975 Zrav & |
AT Ut AT Fohaet STt o A8 At 7 @ ? (et @ & a9 forfe ) 3

SREN
TSt & el gfiy et it e e 2 T ATt 3 s
EEIECRERIIE

EREN
e § grad e grer afeRT wefiai w1 w2 i o= Rt o 2 what
7 oo weli= = TEq|Ter v F1 fAre fRar ?
An Adivasi child will be able to name hundreds of species of trees and
plants. How many species of trees can you name? (Name any six)

OR
Why did British introduce waste land rules? How did this affect the life of
pastoralists?
OR

Why did rich farmers in England start to use threshing machine? Why did
the poor oppose the coming of threshing machine?
ATLT ol STAATY il THATTAT T AT FIEh DHIA-HAH G ? 3

What are the factors affecting the climate of India?

[ eV a¥

1951 <. ¥ AT H STAEEAT q1eg F AT d@ o FAT FHIL0T & ? ohral i
FTL0Tt T forfe | 3

What are the causes of sudden growth of population in India since 19517

Write any three reasons.
ST AT it Tt g (T ) § 7T F= gt g ? de wrer
o | 3

Why are peninsular rivers of India seasonal in nature? Give three reasons.



13. Fwfertea &t e il
(%) HT- FHT 9L HAQrdl <1~=|“| El
BINIEIBEC]
T TR ATTLTF g AT
(=) Fe A= &t srgaf=r ST

AT T FAA
S e 3 form srefera g arfs

() s T FOF UE A ST
KERkal

FT gF g TR
() TATLTE T T TR a1
EIEEUIEERIIY

& TEIATA ¥ AqHIT A2l § FIIH
e T o |

Match the following:

(a) Itis necessary to keep the
of all
Voters’ list up to date because

(b) Some constituencies are reserved
opportunity to
for SCs and STs so that

(c) Everyone has one and only
fair chance
one vote so that

(d) Party in power is not allowed
moved away
to use government vehicles because
voted last

3

(1) THTST & gL qaeh T A=A

2T |
(2) BT U FT AIAT T(AfeTer

Faae o |
(3) BT IFHEATT Fl AT |

T e o |
(4) HT § TR AN TH G

SEt IR e qara o

(1) there is fair representation

sections of our society.
(2) everyone has equal

elect their representatives.
(3) all candidate must have a

of competing in election.
(4) some people may have

from the area where they

14, ¥ % egia T2 F foru et Tears &1 9o+ fifo | 3

Mention essential qualifications for the post of the President of India?



15.

16.

17.

18.

19.

20.

T ¥ TR AT et v 2 2 | et A e g e
FT T GTAF FIoTT | 3
“Rights play an important role in any democracy”. Explain the given
statement with the help of any three points.

FgTerer et TUITet! Sie s Fio 6t ot § Fr siae g ? 3
What is the difference between multiple cropping and modern farming

method?

AT T T AT | TET LT 7 3rehersT /fverior o s fora

STATE ? 3

Explain, how poverty line is estimated in India?

TSI AdLoT TUTEAT & 3T F47 THAT & ? 3

What do you understand by Public Distribution System?

T o ST &3 FET sl AT SMA9TRAT 8 2 T 0T <A1 | 5
EREN

STUIST LRI AL 0 FIO GH F FAT Fa a7 ATgd o ? Tr= HI00
SIEL

SREN
TS TRETeT o STae | A (AT g ) 7 F47 qged 97 ? e |

ferferT |

Why is it necessary to increase area under forests? Give five reasons.
OR
Why did British Government want to change grazing land into farming

land? Give five reasons.
OR
What was the importance of commons in life of the poor farmers? Write
in detail.
ATsitaTs it e faerard Fr off 2 5

What were the features of Nazism?



21. ToIRT SOTd FAT g ? AT | o7 SIaTd o TTAehet giel o STHE R0
forfem | 5
What is sex ratio? Write main causes of adverse sex ratio in India.

22, T AL (AoTeq AT 60 AT FA AT & 2 Fheat O AT 260 00T
T | 5
What are the challenges to free and fair elections? Describe any five
challenges.

23. 3T FF Fg T @ i TPA(A T[T FHT ATHAT AT TAIAT E ? T IAL 6
qHAT H T <19 | 5
How can you say that the President occupies the position of a nominal

head of the state? Give reasons in support of your answer.

24, GT FIAT % AT ATITH HIA-HI & & ? TG Hl Gre GLET o 6 (o0
AL G F ! AT Toheg | &1 FSTHTAT &7 01 i | 5

What are different dimensions of food security? Mention any two

schemes launched by the government to provide food security to the

poor.

25. 3 TTY TR g2 STAEeAT TLET 7 U 467 w0 g gs & ? e &
FTEAT I | 5

How has increasing population proved to be one of the main reasons of

poverty? Explain in detail.

26. T3 U oo & TR fas YA H A s g A A Ruu g | 3=
TEATHT ST wraf=r= H F=rfegd @ o2 37 914 ferfery, <F i sraeret
ED R i 2
A. T TRl &1 U & |
B. o= Trgi &1 U HaeT |



Two items A and B are shown on the given political outline map of the
world. Identify them and write their correct name of the line marked on

the map with the help of information given:

A. Member of Axis power

B. Member of Allied power

Tre: Refertad To7 Fae grearterd qiraTti=i  for o7 §eq7 26 F T
TE |

26.1. ¥ [3°d 5 FF TTLH g3 9T ?
26.2. FI AT UILATE 9T e[LT oTIRAT T Ueh FG& AT ?

Note: The following questions are for the visually impaired candidates only in
lieu of Question No. 26.

26.1 When did the First World War start?
26.2 Which Asian country was one of the members of Axis powers?

27. AT % YETHEEA | A, B 3T C A1 d&qor fRu 0 8 | < T2 ST
AT 9T Ivg, Tg AT ST Ieh ATH (190 : 3
A. T Teft Ty
B. TaH FH SAHEAT I ATAT 117

C. HTEH &9+

Three features A, B and C are shown in the given outline map of India.
Identify with the help of given information and write their name:

A. A Bird sanctuary
B. State with lowest density of population
C. Weather station



Tre: et Fae gearfaa ot =+ foro wr deam 27 Ferma s |

27.1. T i TrsteTeT 7 A1 o |
27.2. 9T ST |Ter AT l Tohed STeT FeaT g ?
27.3. FHAT 74T IT & Fgl foerct g ?

Note: The following questions are for the visually impaired candidates only in
lieu of Question No. 27:

27.1. Write the capital of Tripura
27.2. The Palk Strait separates India from...................

27.3. The river Yamuna joins the river Ganga at...............
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Because it the symbol of autocratic power of the Monarchy.
1864

Or

Raikas

Or

A mythic name

3. Tropic of Cancer

4. Mawsynram

5. Childrenin the age group of 10 to 19 years

6. The country is divided into different areas for purposes of elections.
These areas are called electoral constituencies.

7. Bihar and Odisha

8. Functions of National Assembly for France during the period 1789-1791.

(i) Abolition of the privileges
(ii) Declaration of the Rights of man
(iii) Limiting the powers of the monarch
(iv) Drafting of the new constitution
(Any other point)
9. Species of trees and plants:
Teak, Ebony, mahogany, rosewood, sal, shisham,oak etc.
OR

The British wanted to take control of the grazing lands into cultivated
farms so that they could impose tax on it and could increase its revenue collection.
Secondly, focus was on producing more jute, cotton, wheat and other agricultural
produce that were required in England. They enacted Waste Land Rules in various
parts of the country; land was given to certain individual and taxes were imposed.
Consequently, pastures declined and pastoralists had to face a lot of problem.



OR
Reasons for using threshing machine by the rich farmers:

(i) Toincrease the production of foodgrains
(ii) To avoid the shortage of farm labour
(iii) The prices of foodgrains were high during the Napoleonic Wars
Poor protested the use of threshing machine because their
employment was in danger and income was unstable.
10. Factors affecting the climate of India:
(a) Latitude
(b) Altitude
(c) Pressure
(d) Winds
(e) Distance from the sea
(f) Ocean currents
11. causes of sudden growth of population in India since 1951:
(i) Rapid decline in death rate
(ii) Improvement in public health facilities.
(iii) Prevention of infectious diseases
(iv) Application of modern medical practices in diagnostic and
treatment of ailments
(v) Awareness about health in people
12. Peninsular rivers of India seasonal in nature because:
(a) They receive water from rain.
(b) When there is scarce rain or no rain, these rivers become dry.
(c) The tributaries are few and they are also small rivers.
13. (i) -4 (ii)-1
(iii) -2 (iv)-3
14. Essential qualifications for the post of the President of India:
(i) He must be the citizen of India
(ii) He must have completed the age of thirty-five years.



(iif)
(iv)

He must be qualified for election as a member of the Lok Sabha.
He must not hold any office of profit under the government.

15. Role of rights in any democracy:

(a) People should have the right to express their opinion, form political

parties and take part in the political activities. It is very necessary for
the very sustenance of the democracy.

(b) Rights protect minorities from the oppression of the majority.

(c) Rights ensure freedom from the repressive laws and policies.

(d) Rights protect citizens from the excesses of the government

machinery.

16. Difference between multiple cropping and modern farming method:

(i)

(i)

Multiple cropping is the practice of growing more than one crop on
a same piece of land during the crop year whereas modern farming
experiments with the implementation of the advanced technology
to increase the production.
In multiple cropping the farmers produce kharif and rabi on the
same land while fertilizers, high quality seeds etc are used in
modern farming.

(Any other point)

17. Poverty Line is determined by the following basis:

(i)

(ii)

Calorie requirement: The accepted average calorie requirement in
India is 2400 calories per person per day in rural areas and 2100
calories per person per day in urban areas.

Income/consumption: The monetary expenditure per capita
needed for buying the requisite calorie requirements in terms of
food grains etc. is calculated. It is revised periodically taking into
consideration the rise in prices. On the basis of these calculations,
for the year 2011-12, the poverty line for a person was fixed at
Rs.972 per month for the rural areas and Rs.1000 for the urban
areas. These estimates were given by Tendulkar committee.



18. Public Distribution System (PDS) refers to a system through which the
food procured by the FCl is distributed among the poor through
government regulated ration shops by using Ration cards.

There are about 5.5 Lakh ration shops all over the country also known as
Fair Price Shop, which keeps stock of food grain, sugar etc which are sold
at lower than market price.

19. Need to increase area under forests:

(i) To maintain the balance of ecology

(ii) To control the temperature of environment

(iii) To provide the natural habitat to wild life

(iv) Helpful in rainfall

(v) To stop the soil erosion

(vi) Source of different types of timber and medicinal plants
(Any other points)

OR
Reasons for change of grazing land into farming land by the British:

(@) They wanted to increase their revenue by imposing tax on agricultural land.

(b) Farming was more profitable for them than grazing.

(c) To keep the Pastoralists away from the forest.

(d) To increase the production of jute, cotton, wheat and other agricultural
products.

(e) All non-agricultural lands were unproductive for the Englishmen.

(f) Grazing lands were waste lands for them.

OR
Importance of commons in life of the poor farmers:

(i) Commons used to be common land for the villagers and anyone could
do farming on it.

(i) They pastured their cows and grazed their sheep.

(iii) They used to collect fuelwood for fire.



(iv)
(v)

(vi)

20.

21.

22.

They used to collect berries and fruit for food.

They used to fish in the rivers and ponds and hunted rabbit in common
forests.

It used to supplement their income and sustain their cattle, and helped

them tide over bad times when crops failed.
Features of Nazism:
(i) The state is above all. The people are for the state and not the state
is for the people.
(i) To eradicate all parliamentary institutions.
(iii) Justifying wars and praises the use of power.
(iv) To root out liberalism, socialism and communism.
(v) The Nazis believed in the strong leadership.
(vi) To eradicate all types of protest/ resistance.

(vii)  Concept of Lebensraum: It means living space. Hitler believed that
new territories had to be acquired for settlement of the German
people.

(viii)  Racial supremacy

Sex ratio is defined as the number of females per 1000 males in the
population. Main causes of adverse sex ratio in India:

(i) High rate of female infant mortality rate in India.

(ii) Girls are not given adequate nutrition in comparison to boys.
(iii) Female infanticide.

(iv) Girls have the low social status in the country.

(v) Maternal mortality rate is very high in India.

Challenges to Free and Fair elections:

(i) Candidates and parties use a lot of money. (Money Power)

(ii) Candidates with Criminal connection (Muscles Power)



23.

24.

25.

(iii) Major roles of dominant families and their relatives.
(iv)  Little choice to ordinary voters.

(iv) Candidates of Independent and smaller parties suffer
disadvantages.

President occupies the position of a nominal head of the state; reasons in

support of this:

(i) The President is not directly elected by the people.

(ii) All the real powers are actually used by the Prime Minister.

(iii) The President can give suggestions on bills but that are not binding.

(iv) The appointments on all the important positions are actually done
by the Prime Minister.

(v) The president is not the leader of the House.

Different aspects of Food security

(i) Availability: Having sufficient production of food grains in the
country.

(ii) Accessibility: Having adequate income to fulfil the food
requirements.

(iii) Affordability: People should have the capacity to afford the food
intake.

Two schemes launched by the government to provide food security to the
poor:

(i) Antyodaya Anna Yojana

(ii) National food for work scheme

The population of our country is increasing but we have limited resources.
The distribution of resources is also uneven. Some people have too much
resources while a large part of our population has very limited resources.
Consequently, poverty is increasing. We need to decrease the population
growth in order to take advantage of limited resources. With increasing
population, unemployment decreases and hence income decreases and
finally poverty increases.



26. (A) Germany (B) America (USA)
26.1- 1914 26.2- Japan
27. (A) Bharatpur
(B) Arunachal Pradesh
(C) Shilong
27.1- Agartala 27.2- Sri Lanka 27.3- Allahabad



